e Difficult Words.

1.drought 2.merchant 3.dozen 4.debt
5.owe 6.refuse 7.matter 8.appeared
9.hatched 10.flock 11.indeed

1.drought- a long period without rain
2.dozen-twelve

3.debt- money that you have borrowed
4. appear- to seem

5.hatch- to come out

1.drought- The drought dried up all the farms.
2.debt- 1 am in deep debt.

3.owe- Ramesh owe me a lot of money.

4. hatch- The eggs take three days to hatch.

5.appear- Mary suddenly appear in the doorway.

Edit with WPS Office



Q1. Why did Amin leave his village?

Ans. Amin left his village because he had lost all his cropsin a
drought. So he decided to look for work in another village.

Q2. Why did Amin buy hard-boiled eggs?

Ans. Amin bought hard-boiled eggs because he was traveling to
another village in search of new work. The hard boiled eggs were a
good option to eat.

Q3. How did Amin win the case?

Ans. Amin won the case by being smart and wise.

Q4. Why was Amin late for the court?

Ans. Amin was late for the court as he was planting boiled beans in
the garden.
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